
N = 325

325 circles in a 1x0.70000 rectangle

radius =   0.024166123070
ratio  =  28.966168796899

density  = 0.851822602115
contacts = 615
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N = 326

326 circles in a 1x0.70000 rectangle

radius =   0.024149304630
ratio  =  28.986341872629

density  = 0.853254706711
contacts = 636

 E.SPECHT
19-AUG-2010

N = 327

327 circles in a 1x0.70000 rectangle

radius =   0.024138065521
ratio  =  28.999838425401

density  = 0.855075590460
contacts = 523
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N = 328

328 circles in a 1x0.70000 rectangle

radius =   0.024133787915
ratio  =  29.004978516208

density  = 0.857386537779
contacts = 131
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N = 329

329 circles in a 1x0.70000 rectangle

radius =   0.024038319879
ratio  =  29.120171606593

density  = 0.853210027097
contacts = 266
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N = 330

330 circles in a 1x0.70000 rectangle

radius =   0.024012829717
ratio  =  29.151083327338

density  = 0.853989350325
contacts = 598
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